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“In the 2008 campaign, affordable, universal health care for every single American must not be a question of whether, it must be a question of how.” 
Barack Obama, 2007, Washington DC. 

1. Introduction
Since Duncan Black (1948) wrote about the median voter in “On the Rationale of Group Decision Making”, the median voter theorem has been a widely used theory in political economy. The median voter theorem has two main assumptions. First, it takes place in a single dimensional setting. This could for example be the political spectrum between left and right. Second, individual preferences are single peaked. Each individual has one preferred point on the single dimension. The further it gets away from this preferred point, in either direction, the less preferred this option will be. This results into a situation where the median voter decides. Under majority rule in a two party system, the politician who gets the vote of the median voter wins the elections (Mueller, 2003; Cartwright & Frank, 2016).
However, if we look at politics in recent years, different parties and politicians often communicate mostly about a single topic. Before the last elections in the United States, Donald Trump made illegal immigration the most important topic of his campaign[footnoteRef:1]. It was the biggest problem and he promised to build a wall on the border with Mexico. 8 years before, Barack Obama had another topic which was the center of his campaign. Healthcare was the most important topic which should be changed. Obama strived to healthcare which would be accessible for every citizen, whether they were old, poor or unemployed[footnoteRef:2][footnoteRef:3].  But also here, in the Netherlands, parties seem to have a bias towards certain topics. D66 for example have always been associated with education. If we look at their official website, education is the first topic to be addressed and seems to be their main focus[footnoteRef:4]. The SP were always taking a stand for accessible and better healthcare. Again, if we look at their official website, this is also the first topic to be discussed[footnoteRef:5]. We have also two remarks regarding this bias of politicians. [1:  https://www.migrationpolicy.org/research/immigration-under-trump-review-policy-shifts]  [2:  http://obamaspeeches.com/097-The-Time-Has-Come-for-Universal-Health-Care-Obama-Speech.htm]  [3:  https://www.nytimes.com/elections/2008/president/issues/health.html]  [4:  https://d66.nl/standpunten/]  [5:  https://www.sp.nl/standpunten] 

Remark 1: Announcements of the politicians about a bias towards a certain topic seems to be true.
If politicians address the importance a certain topic in their campaign and make a promise about working on this subject, they will hold this promise. It did not take long for Trump to ban nationals of eight countries, mostly located in the Middle-East. Obama signed the PPACA, also known as Obamacare, in his first period as president. 
Remark 2: Some politicians do communicate that all topics will be worked on and are of equally importance. However, they do not do well during the election.
Not all politicians have a bias towards a single topic during their campaign. Some communicate that all topics are in need of a change and that they are able to solve all the problems there are in the country. Or the opposite can be true, politicians are satisfied with the state of all topics and will change as little as possible. These politicians seem not to do well during elections. 
This bias from politicians and political parties towards a certain topic seems not to follow the trend of the median voter theorem. In a two party system, where the assumptions of the median voter theorem hold, the two political parties should show a strong tendency towards the median voter. If they want to win the elections, they should adopt the preference of the median voter, since the median voter has the deciding vote with the majority voting rule. There exist only one equilibrium, where both parties will take the position of the median voter. (Hotelling, 1929; Downs, 1957) So, according to the median voter theorem, politicians should have a strong tendency towards each other. If we look at reality, this seems not to be true. It also seems plausible that the voters care about more than a singular topic which is addressed by the politician. Voters can also have a bias towards a topic. However, on average, it seems plausible that a representative voter (the median voter in the median voter theorem) cares about more than one topic. 
This paper concerns about the decision by a politician to emphasize a certain topic during their campaign. We observe that not all politicians choose the same topic and that they do not signal to have the same priorities when they will get elected, while existing literature suggests that politicians should have a tendency towards each other. We study this decision to differentiate with the following research question:
“Why do politicians make different statements regarding their priorities?” 
To answer this question, we employ a theoretical model based on the model used in “Confidence Management: On Interpersonal Comparisons in Teams” by Crutzen, Swank and Visser (2013) in a cheap talk environment. There, the manager had superior knowledge about the abilities of his employees. The level of effort from employees was complementary with his expectation of his ability. It was in the interest of the manager to convince his employees that they would have a high ability, so they would exert a high level of effort.
In our model, the effort that generates output is exerted by the civil servants. This effort is complementary with the ability in this department of the sitting president. For a president to be a good president, it seems logical that the topic he will focus on during his time in the office is a topic he is competent in and able to make a positive change. A competent president in the field where the civil servants work in can motivate them and make them feel that they are working in an important field. The voters had a reason to vote on a president that had a high ability in their field of work. During the elections, both politicians want to signal their competence to the voters with a message. For this message to be informative to the voters, who will vote on the politician who is most aligned with their preferences, three requirements need to be met. First, different sender types, here the politicians, must have different preferences. Second, the receivers of this message, here the voters, need to take different actions depending on the senders type. Third and final, the preferences of the sender and receiver of this message cannot be completely opposite. Their preferences need to be aligned on a certain level (Gibbons, 1992). 
In this paper, we look at multiple ways for the politicians to send an informative message to the voters. We will look at a possible perfect Bayesian equilibrium where the politicians communicate their exact abilities to the voters. Following the model of Crutzen, Swank and Visser (2013), politicians also have the possibility to compare their own abilities with each other. This raises the expectation of his higher ability, but lowers the expectation of his worse ability. 
Section 2 presents the model. Section 3 shows the analysis of the model where we look at multiple possible equilibria. Section 4 is a discussion where we look at several shortcomings and provide suggestions for future research. Section 5 concludes. 

2. Literature review
In the median voter theorem introduced by Hotelling (1929), it is assumed that the only incentive for a politician to win the elections is getting into the office. A politician chooses a policy which gives him the highest chance of winning the election and he does not care about the consequences this policy has for the citizens. Downs (1957) gives a well-fitting example why this assumption, although sounding strange, might be very logical. He compares a politician with a coal-miner. Both jobs have a social function. A coal-miner is removing coal from the ground for the people. However, a coal-miner does not remove coal from the ground with the sole purpose to provide coal for the people. He does this for his own, private benefits; income. A politician has a social function as well, but he carries out this social function for his own benefit, the income and the prestige that comes with winning the elections. The social benefits a person, here a politician, can create does not necessarily motivate this person enough to do his job properly, here adopting the right policy (Schumpeter, 1950). According to Hotelling (1929), as already mentioned in the introduction, politicians will converge to the median voter with this kind of motivation. However, using a somewhat similar setting but with incomplete information for the voters, there are cases where convergence to the middle will not always take place, depending on the distribution of voters along the political scale (Downs, 1957).
This is not the only view on the motivation of politicians to win the elections. The partisan theory suggests that politicians want to win the elections to choose the correct policy, and not vice versa. During the postwar period, a trade-off between unemployment and inflation, also known as the ‘Philips-curve’, was the most import macro-economic topic in politics. Hibbs (1977) showed that left-wing governments were in favor of relatively low unemployment and high inflation, while this was the other way around for right-wing governments. By winning the elections, politicians are able to adopt their preferred policy. For a left-wing party, this seems to be a low unemployment which often goes with a high inflation to help the poor and the middle classes, while a right-wing party focuses more on a low inflation in expense of a higher unemployment (Hibbs, 1977). 
The partisan theory gives the politicians a certain problem. To implement their preferred policy, they need to win the elections. However, they have an incentive to converge to the median voter to make it more likely for them to win the elections. After winning the elections, politicians have an incentive to not follow this convergence and implement their preferred policy if they are not committed. Rational voters are aware of this incentive and will no longer believe politicians (Alesina, 1988). In a one shot game, no convergence takes place and politicians will adopt their preferred policy, making the politicians unable to communicate any useful information to the voters. 

3. The model
In our model, there are five main players; politician 1, politician 2, the representative voters, civil servants working in the department of education and civil servants working in the department of healthcare. 
Both politicians have as their main goal to win the elections and get into office. Winning the elections and getting into office comes with a certain prestige that is desirable for the politicians. Each politician has a certain ability, , where  and , in the two main topics of the political agenda, education and healthcare. Both  and  are uniformly distributed between 0 and 1 ( and ). If a politician has a high ability for a certain topic, he is very competent in this field. A high ability can come from for example earlier experience. If  is close to 1, politician 1 is very good in working with education. If politician 1 wins the elections, education will probably flourish. Opposite to this, if  is close to 0, politician 2 is very incompetent regarding healthcare. If politician 2 wins the elections, healthcare will probably be a topic that will be neglected. Figure 1 is a visual representation of all possible ability combinations of both politicians. 
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Figure 1; Visual representation of abilities


There are 2 kind of civil servants. There are civil servants for the department of education and civil servants who work in the department of healthcare. Civil servants who work in the department of education only care about the output which is generated in their department. The output generated by these civil servants depends on the ability of education of the chosen politician and the effort exerted by the civil servants, denoted by  in this case. However, exerting effort also brings a cost to the civil servants. The utility function of civil servants working in the department of education is:
Formula 1:

Where  is the ability in education of the politician that won the elections. 
The utility function of civil servants working in the department of healthcare is constructed in a similar way:
Formula 2:

Where  is the ability in healthcare of the politician that won the elections. 
We also have a look at the representative voters. A representative voter is a citizen in the country and because of this he cares about the output which is generated by both the department of education and the department of healthcare. Voters do not need to exert effort to get the output. The utility function of the voters is as follows:
Formula 3:


Final, we will have a closer look at the utility function of the politicians. Politicians care about two things in a specific order. First and most importantly, as mentioned before, they care about winning the elections and getting into office. For a politician to win the elections, he needs to get the votes of the representative voters. He can acquire the needed votes by maximizing the expected utility of the voters. Second, politicians are also citizens and care about the utility generated by the output of both education and healthcare. Meaning that, the politicians have Lexico graphic preferences. Only if there are 2 alternatives with the same outcome regarding getting into office for a politician, he will have a look at the output of both departments. Note, if we look at output and utility, politicians first care about total expected output (to get the maximum number of votes), second they care about realized total output. 

3.1. Timing of the model
The timing of the model is as follows:
First, Nature draws all the abilities; , , and. Second, politicians observe their own abilities. Both politicians only observe their own abilities regarding education and healthcare. The civil servants and the voters do not observe the abilities of the politicians. Third, the politicians send a message to the voters regarding their ability. With this message, they try to convince the voters that they are the right person for the office. They are the right person because they have high abilities. Fourth, elections will be held. The voters have interpreted the message sent by both politicians and will vote on the politician that maximizes their expected utility. After the elections, the exact abilities of the winning politician is still not known by both the voters and the civil servants. Fifth and final, civil servants choose the level of effort they will exert knowing which politician has won the elections. 

4. Analysis
We solve this model using backwards induction. We will look at the reaction of the civil servants in both departments on the chosen president. The only information the civil servants have regarding the abilities of the president is the information presented in the message sent by the president during the campaign, denoted as  where . After the elections, the civil servants maximize their expected utility when they choose the amount of effort they exert. For the civil servants working in the department of education, this maximization is as follows:
Formula 4:

Since the value of  is chosen by the civil servants and  has a linear relation with , we can rewrite formula 4 as the following:
Formula 5:

If we take the first derivative of this formula with respect to  and equal this to zero, we maximize the expected utility of the civil servants working in the department of education. The optimal level of effort for these civil servants working is as follows:
Formula 6:

The optimal level of effort for civil servants working in the department of healthcare is determined in a similar way. The optimal level of effort for these civil servants is as follows:
Formula 7:

The voters anticipate on these reactions of the civil servants in both departments in their voting behavior. They will vote on the politician that maximizes their expected utility. This utility function is already presented in formula 3. For this maximization, we substitute formula 6 and formula 7 into formula 3. The maximization we get is as follows:
Formula 8:

We will now look at the different messages politicians can send and what kind of voting behavior follows from these messages.

4.1. Separating equilibrium
First, we are looking at a complete separating equilibrium where politicians are able to send any signal regarding  and  to the voters and civil servants. 
As shown above, civil servants in either departments will exert a level of effort that equals the expected value of the ability of the chosen politician regarding their department. If the signal is believed by the civil servants, they will exert the level of effort that suits with this signal. For simplicity, we shall start with a numerical example. From this numerical example a general explanation follows.

4.1.1. Numerical example
In this example, the politicians know the values of  and .  equals 0.4,  equals 0.6,  equals 0.5 and  equals 0.7. The politicians send truth-based messages  and  to the civil servants and the voters. Believing this message, civil servants of the department of education exert a level of effort of 0.4 and civil servants of the department of healthcare exert a level of effort of 0.6 if politician 1 is elected. Utility of the voters will then equal 0.5. If politician 2 is chosen, civil servants of the department of education will exert a level of effort of 0.5 and civil servants of the department of healthcare will exert a level of effort of 0.7. Utility of the voters will then equal 0.6. The expected utility of the voters is higher by politician 2. Politician 2 will win the elections.  
However, this is not an equilibrium. Politician 1 will have an incentive to send a message to civil servants and voters with a higher value of  and  so he can win the elections. The message with the highest expected output will give him the most votes. This message will be that  equals 1 and  equals 1. Civil servants will exert the maximum level of effort and the elections will end in a draw. Note, politician 2 has the same incentive to deviate. Sending a message where  equals 1 and  equals 1 also makes him win the elections and will make the output generated by the civil servants in both departments higher, which gives the politician a higher utility. 
Again, this is not an equilibrium. Civil servants of both departments are aware of the incentives of the politicians and will not believe the values of  and  communicated by the politicians. They do not get provided with additional helpful information about the values of  and  and exert a level of effort of 0.5, the new equilibrium levels of effort. No party has an incentive to deviate. Politicians are not able to persuade the voters regarding their ability with a different message and civil servants of both departments exert a level of effort which equals . We reach a pooling equilibrium where no useful information is transmitted. This is a babbling equilibrium, an equilibrium where voters do not believe the message send by the politicians. Politicians anticipate on this and do not bother to send a truthful message anymore, since this would not be believed by the civil servants and the voters (Chen, Kartik & Sobel, 2008).
This numerical example can also be used with different values of  and . We will get the same result with every starting value of  and  Politicians do always have the same incentive to deviate by communicating the highest possible values of  and  and civil servants will never receive any useful information regarding the expected values of  and .

4.2. Partial Separating Equilibrium
We will now look at two possible partial separating equilibrium. We will do this in a similar way as has already been discussed in Crutzen, Swank and Visser (2013). First, instead of an endless amount of possible messages, both politicians have 3 possible messages they can send regarding their abilities. In these messages, the politicians compare their abilities with each other. They can send a message with an inequality, where he signals a difference in abilities between topics. They can also send a message where they signal that their abilities in both fields are similar. This set of messages is as follows: 

These messages are also visual represented in figure 2.
[image: ]Figure 2; Visual representation of message set S.


We first show why message set S will always give us a division similar to what is represented in figure 2. After this, we will discuss why this cannot be an equilibrium strategy. 
To be a partial separating equilibrium, the expected output of each message should be equal. When the expected output is equal in all three parts of the square, a politician who has certain abilities that places him exactly on one of the dividing lines, let’s say the line between 1 and 2, must be indifferent between sending message 1 and message 2. Then, the following needs to be truth.
Formula 9:

Where  is the exerted effort in equilibrium when message k is send where  and . If this equality does not hold, politician i would not be indifferent between sending message 1 and message 2. We can rewrite formula 9 as the following.
Formula 10:

There are two important things we can observe in formula 10. First, a possible solution for politician i to be indifferent between message 1 and message 2 is when both  and  equal 0. Meaning, the line that divides message 1 and message 2 in the square needs to go through . Second, formula 10 is a linear equation. Meaning, the line that divides message 1 and message 2 in the square needs to be linear. These two things gives us a division that needs to be similar to the division represented in figure 2. The lines could cross the edges of the box on different levels, but it must always be shaped similar to figure 2 to be an equilibrium.
Although this is an equilibrium strategy in the paper of Crutzen, Swank and Visser (2013), in our model this is not an equilibrium strategy. The difference is the importance of the total expectations. In our model, what matters most is the expectation of total output, while in the model of Crutzen, Swank and Visser, the actual output generated by the employers is the most important aspect. Managers were willing to differentiate between employers if the difference in abilities where relatively big. If the worse employer of the two has a low ability, the damage of the low expectations is relatively small, because the output of this employer would be relatively low either way. In our model, the expected output of both department are the most important things for the voters. The sum of the expected abilities is higher when message 1 is sent compared to message 2 and 3. This can be seen in figure 2. If a politician is suited in the upper right corner, where the abilities for both departments is relatively high, he will send message 1. If a politician is suited in the bottom left corner, all three messages could be send if they are send truthfully. However, it is also already mentioned by Crutzen Swank and Visser that the expected abilities are highest with message 1. Voters will always vote on a politician that sent message 1. Politicians suited in area 2 or 3 have an incentive to deviate. Because of this, the first requirement mentioned for cheap talk communication to be informative has not been met. All politicians will send the same message, message 1, regardless of their ability. Voters and civil servants will no longer believe the messages send by the politicians and we will again get a pooling equilibrium where no useful information is transmitted. Note, the exact point where the dividing line crosses the outside of the box could be different. In the paper by Crutzen, Swank and Visser this was at a value of . However, as long as the shape of the figure remains the same, which we proved that it must, the outcome will not change with different intersections. 

Second, we will look at a partial separating equilibrium with the following set of messages:

Message set T is also visual represented in figure 3.

[image: ]In the coming analysis, without loss of generality, we only look at the incentives of politician 1. First, for simplicity, we will rename our variables  and . In the coming analysis,  will be denoted as x and  will be denoted as y. Without loss of generality, we will only look at the consequences of message 1 and message 2. Figure 3; Visual Representation of Message Set T


4.2.1. Message with equality
We start with looking at the reaction of civil servants to the messages send by politician 1 if they believe the message to be the truth and the consequences this has on the voters. The message  is represented in figure 3 by the diagonal line. Note, for every possible value of x, a matching value of y exists and for every possible value of y, a matching value of x exists. For both x and y, no values become more or less likely to happen if x equals y. The distribution of both variables remains the same and no useful information is presented to the civil servants. The expected values remain the same and equals for both x and y 0.5. Using formulas 6 and 7, we know that the effort which is exerted for the civil servants in both departments equals 0.5 if politician 1 would win the elections. We calculate the expected utility of the voters as follows:
Formula 11:


4.2.2. Message with inequality
The message  is denoted in figure 3. Ignoring corner solutions, again, for every possible value of x a value of y exists and for every value of y a value of x exists. However, we can clearly see in the figure that a lot of possibilities regarding x and y are no longer possible if the message send by the politicians is based on the truth. This loss of possibilities changes the expected values of both x and y. The expected value for x is as follows:
Formula 12:

The expected value for y is as follows:
Formula 13:

We start with the expected value of x by solving formula 12. We start with the upper part of the fraction. Solving the inside integral first, we get the following:
Formula 14:

Solving the outside and last integral of the upper part of the fraction, we get the following:
Formula 15:

We solve the lower part of the fraction in the same order. Solving the inside integral first, we get the following:
Formula 16:

Solving the outside and last integral of the lower part of the fraction, we get the following:
Formula 17:

Knowing this, we find the following:
Formula 18:

We solve formula 13 using the same order as formula 12. This gives us the following formulas:
Formula 19:

Formula 20:

Formula 21:

Formula 22:

Knowing this, we find the following:
Formula 23:

Since civil servants of both departments exert a level of effort that equals the expected ability of their department of the president, we can now calculate the expected utility of the voters if politician 1 would win the elections:
Formula 24:

As mentioned earlier, in our analysis we only focus on the inequality where . If we do the exact same analysis for the message , we will get the same results for the expected utility of the voters if politician 1 wins the elections which equals . The only thing changing is which variable has a higher expected value. 
If we compare the outcome of formula 11 with the outcome of formula 24, we see that the expected utility of voters is higher when a politician wins the election that sent an inequality in his abilities compared to an equality. Voters will vote on the politician who communicates an inequality between x and y and this politician will win the elections. Politicians who communicate a truth-based inequality in their abilities have no incentive to deviate, no other message could give them a higher utility. Politicians who communicate  lose the elections and do have an incentive to deviate. Their expected utility will be higher if they would communicate either or . However, this is not something that destabilizes the equilibrium. For honest politicians willing to communicate  in the first place, their abilities have to be exactly equal. The chance of a precise point where is 0, since all possible points on the diagonal line in figure 1 have no mass. So, no politicians have an incentive to deviate. Information about the comparison between x and y, or  and , will be communicated truthfully to the voters and the civil servants. This will result in a partially separating equilibrium.

4.3. Pooling equilibrium
In each cheap talk model, there exists a pooling equilibrium. This equilibrium is also known as a ‘babbling equilibrium’ (Chen, Kartik & Sobel, 2008). In this equilibrium, the message from the sender, here the politician, contains no useful information for the receiver, here the civil servants and the voters. Both the voters and the receivers choose their ex ante best option, which for the civil servants in the department of education will be  and for the civil servants in the department of healthcare will be . Voters will have no extra information about both politicians and the elections will end in a tie. None of the three parties have an incentive to deviate. Politicians are not able to send a different message to get to a better situation, since their message will not be believed by the civil servants and the voters. Civil servants already exert a level of effort equal to the expected value of the ability of their department of the president (see formula 6 and formula 7). Voters will not gain anything by switching their vote to the other politician, since both politicians transmit the same information to both the voters and the civil servants.
In total, we get four different equilibria. First, as proven above, there is a partial separating equilibrium where both politicians compare their own abilities truthfully. Second, there is a pooling equilibrium which also is a babbling equilibrium. Voters do not believe the message sent by the politicians and the politicians have no incentive to send a message that is based on the truth. Third, there is an equilibrium where politician 1 makes a comparison between his abilities and communicates according to the partial separating strategy while politician 2 makes a statement about his high abilities and communicates according to the pooling strategy. Politician 1 will win the elections and the voters will not believe the message sent by politician 2. Politician 2 has no incentive to deviate because his message is not believed by the voters anyway. The voters also have no incentive to deviate, their expected output will not increase by changing their votes and believing politician 2. Fourth, the third equilibrium could also be reversed, where politician 1 communicates according to the pooling strategy and is not believed by the voters while politician 2 communicates according to the partial separating strategy. 

5. Discussion
In this discussion, several shortcomings of the model presented are being discussed. Also, suggestions about further research will be addressed and the added value which these ideas will bring will be addressed.
A first shortcoming of the model, is the impossibility that  and  are completely equal. In this paper, we tried to find a possible explanation why in modern politics politicians have different priorities which seems to not follow the median voter theorem. However, in this model, it is impossible for an equality between  and  to hold. The point where the abilities of the politician are equal can be seen as the median point in this model, the place where politicians converge to according to the median voter theorem if voters are uniformly distributed as well. Still, this does not mean that an equality between  and  cannot be signaled by a politician. Beforehand, an outcome where a politician takes a position on the exact middle point looks very unlikely, but not impossible. This impossibility of complete equality of  and  can be solved in further research in different ways. It is possible to limit the possibilities of both  and . By saying that  and  can have a number of possible values, three for example, an equality becomes possible. When  and  can only attain the values Low, Medium and High, politicians have the same incentive as in our model to overestimate the values of  and  by always communicating ‘High’. It is also still possible to communicate an inequality between  and , but now it is also possible for  and  to be equal. A downside for this method is a possible loss of meaning of the results. There are only a few possibilities in this model, while in this model and in politics, subjects can differ in a lot of ways in importance. It is also possible to construct the model with for example 10 possible values for both  and . This gives more possibilities, but also makes an equality between  and  less likely. 
This model could also be made as a signaling game instead of being in a cheap talk environment. For this model to be a signaling game, the outcome of the politician needs to change depending on the message they sent. This could be done in different ways. You can add a punishment for politicians for lying. Politicians have a loss in reputation when they lie about their values of  and . This will probably not change much if politicians only communicate about the relationship between  and  in the partial separating equilibrium, because we saw that in this equilibrium they will always tell the truth. However, it could be that another separating equilibrium is possible.
Another way to make this model a signaling game is to make it a multiple period model. Using a multiple period model makes the model also more similar to real life. With multiple periods, politicians do not have a direct cost because of the loss in reputation, but lying makes the chance of being elected in the second period a lot smaller. A multiple period model could have other added value as well. Most of the time when a country is flourishing a president is re-elected. This can give the politicians an extra incentive to overstate their values of  and . This will make the civil servants exert more effort and the total output of both departments is higher which makes the utility of the voters higher. 

6. Conclusion
This paper studies why politicians communicate to have different priorities during their campaign. In the model, we looked at different ways for a politician to signal their competence to the voters and the civil servants in a cheap talk environment. We focused on the situation where civil servants exert more effort when the sitting president has a high ability in their work field and vice versa. 
We found that there is no possibility for a complete separating equilibrium. Politicians are unable to credibly communicate their exact abilities to the voters and the civil servants. We did find evidence that politicians are better off when they compares their own abilities with each other. By comparing their abilities, politicians can credibly send useful information to the civil servants which will give the voters a higher expected utility. Using the similar incentives for politicians to win the elections as in the median voter theorem, we got an outcome that is more aligned with the partisan theory. Politicians do not converge to the middle but they follow somewhat their own preferences. Voters vote on the politician who gives them the highest expected utility, so comparing their own abilities with each other makes it more likely for a politician to get into office. So, it pays off for a politician to differentiate between topics and to communicate that he has priorities. 
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